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Answers

1.    818.5    

2.   182,431   

3.    333.2    

4.   187,940   

5.   674,285   

6.    106.6    

7.    880.4    

8.    48,489   

9.    52,720   

10.   14,911.5  

11.      10     

12.      10     

13.    290.2    

14.   370.242   

15.     100     

16.    169.5    

17.      10     

18.     100     

19.   4,706.44  

20.   256.993   

Use decimal multiplication and division rules to fill in the blank.

1) 8,185÷10 =    818.5    

2)   182,431   ÷1,000 = 182.431

3) 333,200÷1,000 =    333.2    

4)   187,940   ÷1,000 = 187.94

5)   674,285   ÷1,000 = 674.285

6) 10,660÷100 =    106.6    

7)    880.4    ×100 = 88,040

8) 484.89×100 =    48,489   

9) 527.2×100 =    52,720   

10) 149.115×100 =   14,911.5  

11) 754.9×     10      = 7,549

12) 5,951÷     10      = 595.1

13) 290,200÷1,000 =    290.2    

14)   370.242   ×10 = 3,702.42

15) 475.8×    100      = 47,580

16)    169.5    ×10 = 1,695

17) 530.52×     10      = 5,305.2

18) 83,320÷    100      = 833.2

19) 470.644×10 =   4,706.44  

20)   256.993   ×10 = 2,569.93
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